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1. What is the value of log, log, {7y T equal|g, A square matrix A is called orthogonal if

et (a) A=Al

tad  Blog, 7 (b A=Al

by 1-3log, 7 el A=a7
(d) A=A

(@) 1-8log, 2
where A' is the transpose of A,
(el b

ga|=a

5. If A B and C are subsets of a Universal set,
then which one of the following is not correct ¥

2. Ifan infinite GP has the fret term x and the fa) AUBNO=AUBINAUD

sum 5§, then which one of the following is

correct ¥ by A UMAUEBI=(BNA UA
(a) x<=10 ey AUBUC=CNBE NA
(b} —-1e<x< idi (AnBluC={AUCINIBULC)
ef D=x<10 where A iz the complement of A.
dy x>10
6. Let x be the number of mtepers lving between
4. Consider the following expressions : 2000 and 8001 which have al least two digits
1 equal, Then x is equal to
1. e —
s X (a) 2480
3 . (b} 2481
2 Jﬂ_:l{ +l;u!;+:|::—1:+-=---—2
. i (e} 2482
3. 8x*-5x+ab d) 2483
R ; E e
%* —ax +bY 7. Thesumnfthuﬂﬂriesﬂ—l+§—§+...ls
g 1 2 pgual to
Y 'z x%+bB ey B0
.H g
Which of the above ar¢ rational expressions 7 o
(b -
ia) 1,4 and 5 only 2
{(b) 1,8, 4and5only el %
{e) 2,4 and G only
@ =
idy land2only 4
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(2 + 30t 3 Fug v # gep w2 w1 T
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{a) &
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108

216

el
{d}
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o | Rrereand) s AR #
1. (A hlaa

i 1
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8. (A=A R 4w i (e 2

A2 g ™ e = v WA I g

(a) w13 2

(b) et 2 W3

() aw 130W 3

) 1,23R3
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Fefafas § 4 s e (gew) afEtm
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(e} y-=3
(d) x-3y



Consider the information given below and
answer the fuo (02) items that follow :
A survey was conducted among 300 students.
It wasz found that 125 stodents like to play al 6
cricket, 145 students like to play football and

11. What is the coefficient of the middle term in
the binomial expansion of (2 + 8t 2

, (b 12
90 students like to play tenmis. 32 students

like to play exactly two games out of the three e} 108
B dy 216

8. How many students like to play sll the three |12. For a square matrix A, which of the following

games ? properties hold ?

(i) 14 1, (Arl=a

(b 21 5 e dﬂ;ﬂ

e] 28

(di 36 3, (A7 = 2A") where L is a scalar

Select the correct answer using the code given

9. How many studentz like to play exactly only el

one game ? tad 1and 2 only

{al 196 ih)  2and 3 only

{h) 228 el 1 and 3 only

e} 254 idy 1, 2and3d

idy 263

10. If o and [§ (= 0) are the roots of the quadratie [ 13. Which one of the following factors

equation x* 4 gax — i = 0, then the guadratic does the expangiom of the determinant
expression - x°© +ax + | where x e R has X ¥y 3
{n) Least value — 1 x* Era 9 | contain ?
g x?  10v® 27
(b} Leastwalue = 3
1 {a) %x-3
1 £ ! -
ted  Greatest value i o e
id) (Greatest value % ) ¥y—3

1 id) =—3y
YPL-S-BLU {5-A)



cosi{— B — minl— 8}
14, =g
—sini= 0} cosl— @)
HEE TR Y

%,

cogfl  —aindf
fan

—~&inf cosl)

costl  sInf
(b
sind  eosd

cosd sind
ek [
-8inf® cosB}
‘cosfl  —sind
()
=inf eos il

- {-1+i=.|"§T“+ [-1—1J§

) 2
@ oi= -1 &7
fa} 3
h) 2
c) 1
idy 0
YPL-S-BLU

]H-?E'H'.;lﬁﬁ X

17,

dn
J =1 W R,

(6—A)

17 forahz figendt & ol & 5 Ramndt Faarh =t
A £ | 11 Taenfed 6 vw dm 0w S

GriEai el e i S o i
(a) €17, 11
) €12, 8)

e} C7,5=C(63)

d} €i5,3)xC(12,8)

loigg 27 + log, 32 1 W1 #0 # 2

T
Lal E

14
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ifa) 5
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14,  What iz the adjoint of the matriz

2

i oposi—8) —sinl- Eﬂ']

S S——

cosfl  —sinB
i3l
~RinB@ Cos HIJ.'
cosld smA’
ihi [ J
(sind  cosd
cosl  sind
()
—sinfh  cos8,
feoatl —sinB
dy |
| g1 b Cods 0

15. What is the value of

8" (28]

whers i=.,||r—_l' T

ia) 3
by 2
il 1
dy O
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17.

18,

(7T-A)

There are 17 cricket plavers, out of which
5 players can bowl. In how many ways can a
tenm of 11 players be selected so as to include
3 bowlers ?

a) CU7.11)
(b €12, 8)
e} C(17,5)=CIb, 3}

id) 0GB 3=C(12,8)

What is the value of log, 27 + log, 32 ?

i
L&) 5
19
b e
! 6
(el 4
W)

If A and B are two invertible square matrices
of same order, then what is (AB) ™ equal to 7

@  Blal
bl A_I E—]
ey Bla
d) a'p




19,

20,

21,
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o —x e b
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(a) 16

(b} =-18

e} B
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Ffta e
ZX+y=3z=0,
Ax— 2y + 2z =53
ox—dy—z=16
(a) T 2

by  HTE R, U wigdE S Ay
(c)  HIE B, A 3 Teil & A

id) w1 B FAfEmsrsm § x-wa F weoEy
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T (gFE) & Tl % ey § Fretafam d
HFMEd B 7
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b # V3 e A T gE W e #
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fad O

by 1

{e) (p—qgllg=r)ir-p)

idl] Inu=xinv=zinw

R & (1 4+ %20 % foe wew # wen o2 =
Eﬂiﬁuﬁaﬂt[1+x}h‘]ﬁ5ﬁqﬁmﬁiﬁ
Heg g & o i ¢ § | Feeffies gedi o
e A R 2

(@) a=p+y

bl w<p+y

) a=f+y

(dl a=py
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20.

21.
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If a4+ h+c=0, then one of the solutions of
8 =K © b
b=x a =0 is
b a c—X
(al =x=a

(b ®=

2 (a* +h* -1-'1:2]'
{c)
3
[} x=0

What should be the walue of x 2o that the
2 4

mntrin[
-3 x

] doea mot have an inverse Y

fa) 18

(bl =186

(el B

(dl -8

The sy=tem of equations
m+y—dz=0,

Ix—-2v+ 9%z =5 and
fx—-Jdy-—z=186

Lol
(b
el

i inconsistenl
iz congistent, with a unigue solution

ia oconsistent, with infinitely wmany

solutions

id) has its solution lying along x-axis in

three-dimensional space

(8=A)

Which one of the following is correct in respect
of the cube roota of unity 7

{a) They are collinear

ik} They lie ona circle of radius V3
ic} They form an equilateral triangle
{d)] None of tha above

If u, v and w {all positive) are the p™, ' and
e terms of n GP, then the determinant of the

inn P 1
matrix | In v q 1|18
I w r 1
ta) 0O
bl 1

e} (p—-gilg—r}ir—p)

(dl musinvelnw

Let the coefficient of the middle term of the
hinomial expansion of (1 + ©"® be o and those
of two middle terms of the binomial expansion
of {1 + %% -1 be p and y. Which one of the
following relations is corvect 7

{a] a>P+vy
(b} w<P+y
e} a=p+y
(d} o=py




25. AR A=IxceRi-12x<1],

26,

27,
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2

(dl 5V %o T8 8
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{a) gmx)<D

ib) pixi=0
el gixl=0

d)  gix)=0

28, THHOE e F AR A, B CF Haw H

29,

30,

(10-A)

trefafes = femnm $ifim ;

1. (A+B+C) =A+H +C
2, {ABY=AB'

8 (ABC =C'BA

WET A', SR A T AfE B

sdrd AR TR E Y
(a) WHEH 12

by Haw 233

() HaEe 13Wa

(d} 1,23m3

feamadt gwmadt (11010, (10110110), 3R
(10011x0y), 1 apred, fGemadi  gem
(101101101, 8 | x 3 y & 5 70 § 7

{a)

th)

x=1Lvy=1
x=1,y=10
el x=0,yv=1

idl H=ﬂ,}'nﬂ

ue ot 5 e B, us o s A W
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26,

27,
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Let A=[xeBR:-—-1<x=<1},
B=lyeR:-12y<1]and Sbethe
subset.of A x B, defined by
S=lix,vieAxB:xt+y =1l

Which one of the following is correct ?

fa) S is a one-one function from A into B

(b} 8 i= a many-one function from A into B

(e} 8 isabijective mapping from A into B

id) S is nota function

IatTrbuth&r*htemnfanﬁPﬁur
r=1 2 8 ... H for some distinct positive
integers m and n we have T_ = 1/n and
T, = 1/m, then whatis T equal to ?

fal {mn 1

1 1

fthl m" +o”

el 1
d) 0
Suppose fix} is such -a guadratic expression

that it is positive for all real x.

If plx) = fix) + Plx) + £x),
reqal x

then for any

fa) gxl<D

b)) gixl=0
e) ghxi=10

(d) glxiz0

Filin

{11-A)

Consider the following in respect of matrices
A, B and C of same order :

1. (A+B+CY=A"+B+C

2. (AB"=A'R

3. (ABCY =CBA

where A' is the transpose of the matrix A.

Which of the above are correct 7

fa}) 1 and2only
hY 2 and 3 only
{c) 1 and 3 only
) 1,2and3

The sum of the bhinary nombers (11011},
(101101100, and (10011x0y), ie the binary
number (101101101 ). What are the valoes of

xand v ?

) x=1,y=1
b x=1y=0D
ey x=0,v=1
(d) ==0,y=0

Let matrix B be the adjoint of a square matrix
A, [ be the identity matrix of same order as A
If k (#0) is the determinant of the matrix A,
then what is AB equal to ?

fa)

(bl i

e} kX
d il



31 AR (027 =2 J7 log,, 2 = 0:3010 B, A1 x F
CIEREE TR A i

tal =100
(b} —05
ey -04
o) —02

82. 08 97% % fum ol F g 5 9 et 5w
ferait weamd =9 = e # o
fa} 45360
(bl 30240
el 27216
(dy 16120
[ ¥y wy+z)
33, SRYE |z x  z+x| T OENE WAETR 7
¥ b I+1'!.I'
@) E-=ylly—z){z=3)
(h} (x=v)iy—=
e} ly—zilz—xm)
i ) iz—xl"!m+y+z}
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34. afg A, BN ows ByE 5w # o

| i 1 1

1+xind 1+&in B 1+gin¢ | =0
sinA+sin®A  sinB+sin®P E:i.:l[llshﬂﬂ|
B, @ Fafafag 8 8 sfham vs ot & 0
(a) Frgw ARC wwfgams &
(k) fag ABC TwEm #
ey Fq= Apc T 2
(dy g ot vwft F 9w O wE Fewd o
N HEA

85. UHHTE F F oaeyE A 3 B % mEy i
Frefefas w famn fifbw .
L A*-B=(A+BIA-B)
2. A-DI+A)=0z=4A%=1
W IHEE HiegE § 3 0 9 A #
I | § whad o A
{a) EH 1
(by FaEe 2
(e) 13 2 &l
(dy IFHA1L,TIF2
38, %E%ﬁmﬁsmi?
(a) cos 26
(b)  tan 20
() gin 2
(d)  comec 20
A



31. If (0:2F =2 and log,, 2= 3010, then what

ia the value of x to the nearest tenth 7

ta} =10
thy —06
el =04
{dy -—-02

32, The total number of 5-digit numbers that can
be composed of distinet digits from 0 o 915
ia} 45360
(b 30240
el 27216
(d) 15120
%9. What is. the determinant of the matrix
[ X ¥y v+4z)
|z x 4% 7
L}" ¥ X+
@) (x=%lly=—zliz—x)
b} (x—yhiy=—=;
e (y—z)lz—x}
() (- {x+y+u)
YPL-S-BLU
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(13-4}

If A, B and C are the angles of a triangle and

1 1 1
T+ sl 1+zinB 1+ginC =1,
sinA+gin®A sinB+ain®B  snC+ain®C

then which one of the following is correct 7

{a) The triangle ABC is isosceles

(b}  The triangle ABC is equilateral

ie) The triangle ABC is scalene

{d} Mo conclusion can be drawn with regard

to the nature of the triangle

Consider the following in respect of matrices A
ond B of same order |

1. A_B*={A+BMA-B)
3 (A-DI+AI=0=A=1

where T is the identity matrix and O is the
null matrix.

Which of the ahove is/are correct 7

{a) 1only

by 2 only

icy Bothland2

{d} Neither 1 nor 2

What is 2 t‘“,_? equal to ?
1+tan®8

fa) coafd

{b) tan 20

{¢) sin 28

id) cosec 2B




87. AR sec (6 - w), vee 0 3 sec (0 + o), T Mol |40, e gauls H us w5 oA R | 9w Gl
(AP) % %, 98 cos auw 18, 1 sin? 0 + cos o 1 HHET 3 (3 - tan” A - cot A = 1 I GO

I =R =M | Pefsfmm i amamand e
(a) O fa) 300
by 1 (b)  315°
(€1 -1 (e} 330°
. % d) 345°

41, h FEE F vF Eg & i o owm B At mw

38. 4R A+B+C=180" % ﬁm*ﬁ%wmngmg

{
(a) —4sinA sin B sin O al  2h
dh
bl —4eosAsinBeosC (b} 5
{e} —4coz AcosBsin C R
d) —-4sinAcosBeosC ) %

8. EMMF%EW%%{W}H. ﬁﬂﬁﬂrﬂ?ﬂ'ﬂﬂﬁ?ﬂm:ﬂaﬂcx+mtx=dﬁmﬁ
Ll R e e wE T AE, T 0<x<2n? 7
0 48 R | 93 7@ & Iw F AN $t S

122 m R, o1 0 i o 5 8 2 &) E'EE'E'%
(a): 122 &in48°m
(b} taag
hl 122 tan 4% m
L) aﬁﬁu
() 122 cos 48" m
n b
() 122 tan 48° m @ ®mg3 5

YPL-S-BLU (14-A})



87. 1f see (B — o), se¢ @ and sec (B + a) are in AP,
where cos o = 1, then what is the valoe of
ain® 6+ cos'ax ?
fm) O
hy 1
gy =1

1
d -
) 2

g8 [ A+PB+C=180°, then whatis
gin 2A — sin 2B —sin 2C equal to 7
in) —4sinAsginBaeinC
ibl —-4cosAsinBeosC
e} —4dcosAcos BainC
idl —-dsinAcosBeosC

39. A balloon is divectly above one end of a bridge.
The angle of depression of the other end of the
bridge from the balloon is 48° If the height of
the balloon above the bridge iz 122 m, then
what is the length of the bridge ?
fa) 122 =:in 458" m
by 122 tan42°m
ed 12Zcos 48" m
idl 122 tan 48° m

YPL-5-BLU

(15-A)

40. A is an angle in the fourth guadrant, It

satiafies the triponometric
3(3 — tan® A — cot A)¢ = 1. Which one of the

equation

following iz a value of A7

(a} 300
(b) 315°
ey 330°
id) 345

The top of a hill observed from the top and
bottom of & building of height h is at angles of
elevation ; ol % respectively. What is the

height of the hill ?

{n)] 2h
i
2
el h
w) B
2
What isfare the solutionia) of the

trigonometric equation  cosee X + cot x = 3,

whers 0 =% < 2n7

bm
fal = onl
a 3 nly

R
(b} 3 only
ey  monly
[
ld i
! Wigoy



43. ﬁ%HEéEE1ﬁ

(2 cos 0 + 1) (2 cos 20 — 1)1 (2 goa g - 1110

Eaficiec i
iak
(b
i)
fel)

Lo - R -

44, 98 cos o 3R cos B0 < o < i < n), fiwmm
AT dx® - 8 = 0% TE 8,  sec.o x e B

G R

ia) -—;i
d

4

'|| et
(b =
it E
4
) - 2
4

1. &

3. -4
g 1
B

1

& o=

4

x % 3w wE § @ s @i
un"czxntuu-‘i&m:fiﬁﬁﬂﬁﬂ?

(a) FEA 3
(b) el 2 st g
) WEE 14
(d) a4

YPL-5-BLU

46,

(2 cos 48 — 1)M0

47.

{16=-A)

Al wF AW A0 (GP) S ogn 9E 2 @ e
W A 9A w1 AR 8 B, A iR Avfi
(GP)#

F i
{.;l 5121 Bl S
4 2 8
=R
[h'.] 1ﬂr2|_|_1l-
8 25
1. 1
[.I. 2-]‘-p_|_l
ok 4 3' o3

4 ‘3
(d) 63 =, =,
2 4

a3 a, b, ¢ TEEW A0l =1 R Ao @ AT
&ﬂﬁﬁi*ﬁz—:ﬁﬁmﬁawﬁ?

(a) = e o -
(b} = rwEy = avr o
(@ 13t L s 2
(d) Jm%m—
A1 st 7 U wh gemat w1 dee w2
o aft Fi s g, 4 o 5 F T e E,

wEl i it Ty e 777 #
fal 2664

(bl  3RRZ
ey 4044
(d} 4444




48. If 6= ‘E’ then what is the value of
(% cos B + 119 (2 cos 20 — 119 (2 cos 6 — 110
(2 ¢os 40— 110 7
{a) 0
by 1
e} 2
(d) 4
44. Ifcos oand cos (0 <o < B < 7l are the roots
of the guadratic equation 4x? - 8 = 0, then
what is the value of aec a x sec §i ?
4
fa) — 5
4
h =
{b) 3
]
, (. .-
Lo 1
@ -2
4
45. Conzider the following values of x :
1. H
2. —4
1
9 &
i =1
4
Which of the sbove values of x igfare Lhe
solution(s) of the equation
tan-t (2x) + tan~! (3x) = E ?
{a) 3only
ib) 2 and 3 only
(el 1andd4only
(dl 4 only
YPL-5-BLL

47.

(17T-A)

If the second term of & GP is 2 and the sum of
its infinite terms is 8, then the GP is

fa) B8, 2, %, %.
B} 10,2, %,%,
(&) 4.2.1,%.%.
(d) E.E.%,%,.

lfa,h,nminAPmGPnrHP.thEﬂi_:E
equal to
fa) Elm."il:rrE

& @

[

) Lor £ oorl
(b anrh-nr
(e} lnr%ur—:-

a__ e
1 e =
id} nt'bar

What is the sum of all three-digit numbers
that can be formed using all the digits 3, 4 and
f, when repetition of digits is not allowed ?

la) 2664
(b} 3882
el 4044
idl 4444



45, 'HIﬁT:IﬂEﬁa,:E+h1+enﬂmpxg+qx+r=D B2,
% qEl  wgwa woe # | @l p, @ D,

v 37 T Rl & At % -

2

" 7
2
5} H—E
p
]
(b "‘—?
1q
|
¥
el e
3
id) IR | wE TE

o3,

50. A A = sin? 6 4 cos? 0 %, A oft TR o &

fom fafefas A a shmws el 2 0
(A) 1<A<?
3
bl 2 chel
¢ i,
13
ey =8
e lﬁ_ﬂﬂl
W eacld
4 16

5l1. ﬁ:‘ﬂ’tgﬁﬁitﬁﬂmﬁiﬁn {Eiﬁ}ﬁ%{:r.:,yl_r
M (xy, 7,0 &, 91 38 g 7 Ao &

(@) (% =% (X —xph + {y — 3y — yg) = 5% 492
= iy —y )R
(b} (x=x0%+(y—y,) = XYy

te) xfeyteBxx 42y y.=0

) dx—xg) (x—xy) + iy =3y~ y,) =0

YPL-S-BLU (18-A)

o 7 22 + 4y - 2x - dy + 2 = 0, FW
el = & 2

) % fag

(b)  37eEr 318 1 FE0 o SEae
(c) gtﬁﬁ?ﬂmﬁﬁqﬁ
() v d 7 FE A

a T lx+my+n=0 3N
Us+m'y +n' = 0F o= F F0 anlo fm
TR | o i e gy

{a) '~ 'm
= mm’

im'+ I'm
i+ mm'

(b}

im"— 'm

L) -
% mm’

) ‘Em +Im‘

i — mm'



49.

The the
ax? + bx + ¢ = 0 and px® + gx + v = 0 are equal.

If 13, and D, are respective discriminants,

ratin  of roots of puations

thien whiat is %’— squal to ?
a2

2
w =
P
a
b 2
q
=
¢
(el ==
2
{(d) None of the above
B0. If A = sin® 0 + cog* B, then for all reallﬂ,
which one of the following is correct 7
m I=A=32
4 +}] ﬁ e T |
4
13
Pt . % |
e 78
a 13
i — 2As —
e L
51. The equation of a circle whose end points of a
diameter are (x,, ¥y and (Xg, ¥l is
() Ge—% ) x—xy)+ (y —¥)) (x—va) =x® 437
(b lix-—:l‘JEH:.r—}rI]t::xEyE
{e) %2+ y%+ Bx x4+ 2y.y, =0
(d} [K—KIH.‘-'L—ILE}4-[}"—}’1}{:!—3'.‘5,1=ﬂ
¥PL-5-BLU

52,

(19-A)

The second degree squation
xf 4 dy? —2x — 4y + 2=0 represents

ia} A point

(b} An ellipse of semi-major axis 1

(¢l An ellipse with eccentricity 1—"';5

id)  None of the above

The angle between the iwo lines

Ix+my+n=0 and
given by tan™! 8. What is 0 equal to ?

I's +m'y+n'=0 18

(&) Fm —I'm

Il = mm'

.!m'+1"mr|
I+ mm"

Im'—I'm \
el .
4 mm'

Im"+I'm
a i, &
= ‘ﬂ'—m :




54. Frafefan wedi w fem i . 56. FHAT 3x - By + 22 + 11 =0 F farg (2,3, 0 )

i :{maﬁy=m.1'.+c13ﬂ':!}r=mxd-¢gﬁﬁ iﬂ. i?
s oy = [0 el ta) 1 YHe (WEE)
B
by 2 gfR (arE)
2, T nx + by +e,=0 #n (o) o Tk
ax + by + ¢, =0 % = 6 R
£q —Ezl El {d) 4@{%]
a* + bt
3 iﬂlﬁx=c13ﬂ1x=n2ﬁiiﬂﬂﬂ"{ﬂ
feé;—eyl B 1 57. = o, P, Q 3t R % Fdws w9 0, 0, 01,
o {4, 6, 2m), (2, 0, 2n) 3 (2, 4, 6) % | 7 +fifw
ITF FA 0 G wA-A = E o & L, M, ¥ 30 K 9 0= OR, OF, PO
i Qr T W W & fag # & LMNE v
(a) a1 30K 2 wi wgMa ? faed @ dem g Li s

LM%, frll & v Femad W2 2 | moaln

(b} =t 2 30 3
n= W AW 1 F 7
(c) THEE 1 33 .
@) 6,2
(dy 1,233
by 1,3
€) 8,1
B Tmfm;fﬁ'fm ““;ii’_‘m“ﬁ @ TS St
_E -I--:a]-zl 3 +5—2- =] yﬁﬁqﬁa
B B T R A T dx 4+ 5y - 6= 0%
HETE B 7 58. Héi =H;ﬂ=1;3 Frm Trefig 2t
27

(a) 20+ 265y — 54 = 0
(b) 25x+20y-54=0 Al x+y+x=6 x+9y_-dz=—4¢
b} x+8y—2x=—1, dx+dy—5z—3=0

l¢) 4dx+0y—564=0
(@) Gx+2y-8e=0, x-Gy+35=-2

"i_:l ":}[*5}"“45"] r'll} 331_2.}._:51:_21 HI—EF"'-HE_-H

¥PL-S-BLU (20 —A)




54. Conzider the following statements :
1. The distance between the lines
]
¥=mx+ ¢, and ¥y = mx + ¢, id V———.
g T 1em?
2, The distanee between the lines
u+h;.r+r:|=ﬂandu+h}r+|:ﬁ=l]is
ey — eg|
a? +b?
3. The distance between the lines x = ¢
and x=c,is | gy - gg].
Which of the above statements are correct 7
fal 1and?only
th) 2Zand3 only
ic) 1and3only
idi 1,2and3
65. What is the equation of straight line passing
through the point of intersection of the lines
X ¥ x ¥
— 4+ = =] — 4= =1, and llel to
ik and 5y para
the line dx + Gy —G6=07
a} 20x+25v-54=0
ihy 28x+ 20y —-564=0
(¢) dx+5y-54=0
(d) dx+By—d5=0
YPL-S-BLU

(21-A)

What is the distance of the point (2, 3, 4) from
the plane 3x -6y + 22+ 11 =07

fad 1 unit

(k) 2 units
(¢} 3unts
(dl 4 units

Coprdinates of the peints 1, P, § and R are
respectively (0, 0, 0), (4, 8, 2m), (2, 0, 20} and
{2, 4. 8) Let L, M, N and K be points on the
gides OR, OP, PQ and QR respoectively such
that LMNK is a parallelogram whose two
adjacent sides LK and LM are each of length
J2. What are the values of m and n

respectively 7
(a) ‘6,2
(b} 1,3
ey 4,1

{d} None of the above

x-1 z—d

The line *_ . 2o

3

15 given by

) x+y+e=f x+2y—-Jz=-4

hy x+2y—-2z=-1 dx+dy—-Hz—-3=0
(e dx+2y—3z=0, 3x-8y+3z=-2
(d) Ix+2y-82=-—2, dx-6y+3z=0



59. Faeafaias sl w s S

L. HHEel fx-y+e=13M x+y+22=3
%ﬂamiﬁmgﬁl

2 aHEl 6x — 8y + 6z + 2 = 0 oW
2x -y + 2z +4 = 0% #15 F 7h %”%l

T Fe § 8w A
(a)
(hi
@ 1322
{d]

ﬁqﬁiﬁﬂﬁﬁﬂﬁﬁﬂm:

FHTT; 4 st Pim, n) 3N Qi 80 F
faem g v gwfam W
M o wA@ W B, @

Cos o = ia i|

-.||Ilfrl:1-E ¢ nt)ir® 4+ RE]

Fo7 i1 et ot Frgm ABC B, oA 2 e

a¥ =b% + o® - Fbeeos AL

wdw 3wl & daw §, fefafen § @
FIAH U =R Y

SHI wEA T 9 11 g8 # 3% w0 1L S
1 &1 =5 P @

T wE 19 10 oad ¥, e wea
YA | F WA FTE R AE

(e} EH I W, TR e 11 T 2

{a)

1h)

() wuA e R, e e ool @

YPL-5-BLU

61.

(22-A)

4 forga &1 gawe w0 R Rk oi-fag

(o) (k) 2] o

(o) ixy — Xty — X5) (Rg ~ 2, )|
fhy 0
(e) []{I —}LEHIE—K:]_]{I‘*—H]:'
AyXgxy
|
N Xy —Hg][ﬂg-iﬁ}f}la —xj
2'..'!1] oKy

afg yars, 9 x2 4 ¥ 4 gxo+ Iy + E = 0%

w3 w2, A 58 g w wifiew, g 9 e
frg mwmm 2 7

& _f)
ial ( 3’ "3
f
(b [—g,—E}
_E
fch [ EJT]
d}  (-g —f)

oe Wit W =0, D] 2 0 R
(8 + D)@ + Bl= |22+ B |2 =
B 2, afy o Fam ol

a #N
(b} @ ¥W
(¢) a #h

a 31

(@l Emf
b HE R
b, 456° % F W 3

{d) b wfremia




59, Consider the following statements

1. The angle between the planes
Ix—y+zaslandx+ y+2r=3is %

2. The distance botween the planes
Bx—dy +62+2=0 and
-y + 224+ 4=0is E’

g9

Which of the -above statements iafare

correct 7

(a) 1 only

by 2 omly

{¢y Pothland?2

(d) Meither 1 nor 2

60, Consider the following statements :

Statement I': If the line segment joining the
points Pim, n) and Q(r, &
subtends an angle o at
the arigin, then

TS — Tr
COFE L = i 3 a
Jim® + afet s 8

Staterment IT : In any trinngle ABC, it is trus
that a2 = b* + ¢? - Zhecos A

Which one of the following is correct in respeet

of the above two statements ?

{a} Both Statement | and Statement I are
true and Statement I is the correct
explanation of Statement 1

ikl  Both Statement | and Statement I are
true, but Statement IT is not the correct
explanation of Statement I

ied  Statement 1 is true, but Statement 11 is
false

id}  Statement | is false, but Statement II is
true

YHEL-S-BLU

6l.

(23-A)

What 12 the area of the triangle with vertices
o) o) o)
Xpo— |+ | &5 B | R s

Xy i Ky X3

il

| (% — ®yd {xg — ) Cxg—x H

(b} 0

{c) (X —xgbxg —Hgqllxg =X )
e Bk £

() Exl—xg'!'{xg—ﬂ..ﬁ]-{x-,}—-m}
2xX5Xy

If v-axis touches the circle

oyt opn iy # % = 1), then the normal at
this point intersects the circle at the point

! f
3] -, ——
L e

_E f]
Led [ 5
dy  (~g—1)

I.etl?Lﬁﬂ‘1?1¢ﬂ,
(A B2+ D=7 |3+ |02
holds if and only it

@) & and B are perpendicular

b} & oand B are parallel
{¢) ®and B areineclined at an angle of 45°
(dy & and B are anti-parallel



64, AE 7 =xi +yj + 2k B, A
Toli 4] + k) Frms ama @ o
fa) =x
(b} =x+y¥
e} —(x+y+z
) ix+y+z)
] fal & ] A A
85. TR 2i - j + k aMsi —4j - k, 7w
T FE, TE o gfe (g a8
14 3 &
{aj _—I-TJ__ﬂ
R L
1.4 j I C
thy — = -
‘E:+EJ+2
1 & 1 » 1 4
1) I Ik
7 S R
L 2l 1 & 1 &
Ed:l 1 4+ — +_I't
3 BT
66, FE |a|=3,|B|=43 |3 -B|=5%
|3+ b | FAAFNE?
ial 8
by 6
(¢) &2
d) B
TYPL-Z-BLU

[i1-8

(24-A)

T B, b oalw T oy wewm ww
¥, wouwm @ wiEmE TR R 3R

o P - S R e

B=%-b-¢ & o fohfes 74 F9m

T HWElE 7

@ 1A |5|B =18

® |A|=|B|2|C|

@ |A|=|B|=|T|

ta} 0

{hl :HE}

&) Z(am xB)
RS N

i +2] + 3k 7 eifim v siafEEE w T
e 1 S5 | wk w5 smifas ¥ | sEfEE
& gl 1wl #

fa) &
(b} J3A
ey BA
(d) T H B FE T



¥PL-5-BLU

. M A,
If ? = xi + vj + zk, then what is

3w
v oukl -+ 1+ k) equal to T

la) x
b} xE+¥
fgd  —lx+y+u

dl (x+y+z

A unit vector perpendicular to each of the
& 1]
vm'r.ursﬂ? —j'+Eﬂ.mi :il’ii -] —kis

fal iJ:+ 1.;—L,_i‘:
i 2 W3
{hi %:+£;-%E
(el :J%i”h%j’-%i
(d) T‘;T+;—§T+%ﬁ

s
If|a|=8|b|=4and|a — b | =5

f

then what is the value of | s + |'?
fa) &

ihi &

(e) G2

idd b

(25=-A)

=
B67. l.et;}TE}andE b three mutually

perpendicular vectors each of unit magnitude,

=k - o
If A =?+E}+ch.3 =?—E}+?ud

E:?—E’-?,thenwhinhnnenftha

tollowing is correct 7

TR I e
B |A[=IB|2]|C]
@ |A|=1B|=|C]

—}.
@ |A&|#1BE|=|C|

b
Whatis(a — b )xia + b Yegualto?

P
(b} ?x?
@ Zia xb)

A spacecraft located at P Ef + Si is
m:.hjauw&maihr:elﬂhyﬁ:iugamnk%m
spacecraft iz subjected to a moment of
magnitude

fal A
bl J3A
ied  JBA

(d} MNoneofthe above



70. & Pigm ABc o, 3fz #m O fan w, A 78.
e sl o fosn $ifam .
. e ] — s
1. AB+BC +CA =10
— +* —¥
2. AB+BC-CA=10
— ; —
3 AB-BC+CA=10
— — —» LS
& BA-BC+CA=1D
I weAl A o e ol # o
fa} T
A
{0y #m
(d) =W
74,
71. R #Hifae B =% v = cos (sin x) B =R
tan 8% | 7% IFAOA (0, ) H 6 A B
"
[ iy
Bl 2
by 2=
4
ich .
d
n
() =
2
75,
-1
72, ﬂﬁ.ﬂx::"—i..nﬂlﬁ#ﬁqaﬁqﬁmﬁa
n_
AT ®, Tl SHET B TR 7
fa)  L—ead) L {4, )
(hy (4, =)
(el (0, d) L) 14, ea)
(dr (1,4 U4, =)
YPL-S-BLU (26— A)

Heid
'sigh Hex e
flx) = : wt femm #ifaw -
E ﬂﬁx=ﬂ
wel & day |, Frafaies @ @ wE vE O
#o

(a) HE x =0 T9q 78 #
(b} 4% TrdF x W H9 8
(¢} ¥R x=nT Tad T8 &

{d) T8 x =09 Haa 2

T fix) = |x — 3| ® fou, Aofafm § 4
HH-H U W T R

la} W x=- 39 HaA TE &
T x = 3T HeA B
FEH x = 09 HEHET #

HAd x = — 3T FaFEHE B

ikl
{eh

i

wﬁtﬁaqf[:J:L‘iﬁmﬁﬁﬁqﬁ

2x +tan™ x
Wi fag, WoHee B, A fo) W wE w0 B 7

1

(a) 3

thi

B wa Gofes

(o)

B

il




70.

In a triangle ABC, if taken in order, consider
the following statements ;
i =l
1. AB + BC + (ﬁ =
- = —%
& AB + BC - CA

= —
3. AB - BC + CA =

— — —
4. BA —-BC +CA =
How many of the above statements are
correct ¥

in) Ome
(b} Two
ey Three
id} Four
71. Let the slope of the curye y = cos~' (gin x) be
tan @, Then the value of B in the mmterval (0, ©)
is
s
{al 8
an
4 el
(b} i
t
i} I
iy
2
(=1 .
72. Iffix)= Y defines a fanction on R, then
I —
what is its domzain ?
(@)l (—oo, 4} {4, =)
{hy [4,09)
fe) (1, 4) L (d; ==
fdd 11, 40U ;=)
YPL-5-BLU

73.

4.

75,

(27T -A)

Conzider the funetion

-
min 2x if x#0
fix) =
@ .
— if =10
15

Which one of the following is correct in respect
of the function ?

{ay Itisnot continuous at x=0
(by Itisconlinuous at every x
(e} Itis not continuous at x =n
{d) Itis continuous at x =0

For the function fix) = |x - 3|, which one of
the following is ot correct 7

(e} The funetion is not continwous af € = = 3

ik} ‘The function is continuous at x = 3
(g}  'The function is differentiable at x = 0
{dl The function is differentiable at x =-3

|
fix) = 2x —gin % 5

Iy +tan L x

If the function

epntinuous at each point in its domain, then
what is the value of f10) ?

1
s
| 3
1
b =
3
p:
@& =
¥ g
dy 2



76. 4R fx) = J25-x? B, W@

o a2 7
{a) = !
24
(B
o i
1
L] E o o TE
T
1
d =
443
77. Ilﬁ:.r=|;m-1[
el i
1
ti]  —ria
D%
b} 1
(el -1
2
2Jx

78. FEHA ﬂxi=xﬁiu1+cnax+%nﬁxa§ﬂ-ﬁﬂ
i, fefsfaa d g s o gt 2 o

w.m[u.g] & axia &

(&)
A1)
lel
TR, HAGH

(d)

YPL-5-BLU

5 —2tanyx

2 + 5 tanx

AR, HATE [ﬂ.f] o 3= TEA B
i,

w,aa'ma[u.g)ﬁﬁmnm%

n
—

+

.;]ﬂmma

fix)— £

x—1 78,

L |

- dy B
]ﬁ,maﬁﬂﬁa

Bl.

(28-A)

TN LEL L o e—

s} o
{a) 2
ik 242
i
{cd —_
<2
1
d}y ———
242

U W o A B, O fin) =x® —dx + 5
am aftaifie B, W@l A =1, 0% | wEE ow
gitw (=) 7 & 7

{at (2, 8)
by (1, 6)
[ch [T, 50
(ddy I1, 5]
b b

j!xlm*f - x] dx ToFmds womr B, =@ ()

i

H'Eﬂﬂ'i?ﬂﬂ?;ﬁﬁﬁ?

ial b=na
thh a-b
ic) {1

d) 2i(b-al




76. U Rx)=y25-x%, then what is
L fix)— 1) seual s ?
| § =1
p &
a) -
J24
1
bl
J?‘..d.
1
(&), ——
i 4"{3
1
id)
443
[ 5—2tanx dy
77. 1 y=tan? |- ],umnwham—
o [2 +5tan v || dx
equal to 7
X
() =
24x
th) 1
el - —1
1
id}
25:&
78. Which one of the following is correct in
respect of the function
: ;S S
flx) =% sin x + COB X + 3 cos x 7
fal It is increasing in the interval [U, g]
(b} It remains constant in the interval
i 'I'[\]
0, =
>3
ic) It is decreasging in the interval (ﬂ, %J
(d) Tt is decreasing in the interval [{;- T—E‘]
YPL-S-BLL

79,

B,

Bl.

(28-A)

1— cosd

i to ?
What is Eﬁfﬂ 5 equal
(a) 2
(B) 242

1
]
® Al

1

{d} - —

2

A function f: A — R is defined by the equation
flx) = %* — 4% + § where A = (1, 4). What is the
range of the function ?

(a} (2, 5)

(hy (1, &)

(e} [1,8)

{dy [1,5)
b b

What is Jl tx]dn{--'- [-x]ldx equal to,
n B

where [.] is the greatest integer function ?

fa} bh-—-a
th) &a-b
ey O

d) 2ib-—al




H
82, -! |%—&]dx TFeeh a2 e 85, I[%(tm‘li\”dx TR wr # 7

ta) @ @l 0
by '3 T
(i e
4

(] 4

o
idy 8 W =~
E

(b —

2

83, jﬂmaxcmxdx TorEe w0

8. Tefafan omoe 8§ 08 el wem
fix)=x*—Bx +6BHAA 2 7

(al r:ua-ir+|:

tht -sin*x+e
(a) [—oo, 2]
oy G—sin®xl
1.:' 4 + 8 :E} !31 H':I
(1 - cos? @
':.Eh ——— T
4 idr (28

e ¢ THTEEA-IE R |

BY. d@-Hel v = p eoslax) + g Ein[u.:z:fil.“ﬂﬁ P
THwE I, T Ad%e Y #

Tl b x b 2
B4, J-e X gy e A i ﬂi_ﬂz},ﬂ,
dx
i) fn|tanx| +e 1
'.b] d':—ﬂ.}":ﬂ
th} fm |secx | +e i
2
(¢) tan d’y =
C X+ (e E”‘f‘u
) &g )
d°y .4
d) —=‘+my=0
dx®

T o YA R |

YPL-S-BLU [30-A)




H 1

82. What is I |x—5|dx equalto? B5. Whatis I{i(tan‘l %J}dﬁ: equal to 7
a ox '
fa} 2 (a} O
iy 3 n
y QRS-
ih .
e} 4
t
@ 8 & =5
T
idi 3

83. Whatis I sin” % cos x dx  equal to ?

B6. In which one of the following intervals is the

i
(al oo X+ funetion fix) = x* - 5x + 6 decreaszing 7

b}  &in® x+e {a} {~==, 2|
e {h}  [3,==]
() i1 s-.: L

g} [==omm)

A
(d) ”_‘“_'EL.E,‘.,. e d (2,8

where ¢ is the constant of integration,
B87. The differentinl equation of the family of

curves v = poeos (ax) + g sin (ax), where p, q

are arbitrary constanis, is
#4. What is j pfMEn gy paualto?

2
(e} ?—E —1123':0

=
ia}) in|tanx | +¢ tx
(b fj"l:lH-E'l.'Hlll-l:'.' (b di —ay=0
dx
{ed tan X + ¢
dﬂ
(d) a0 ap (el d;.;_f e S
where ¢ is the constant of intogration. d dgy -I-J_"I.i:.’—[l'
dx*

YPL-5-8LU (31-4A)




g8, fg (-1, -2 A TR gE W
§§=u£2—n%ﬁﬁgﬁﬂﬁﬁléﬂﬁﬂﬂ
i x
aeffeT &

YPL-5-BLU

fa) 17xy—6x-+3x°-2=0
(b} Bxly+1Tx*+2"_3=0
(o) Bxy—-2x" +17x" +3=0

d) 1Ty +bxy—x"+5=0

6 Heemel @i R il w7 8, T v
y=acosx+bsinx+oee™+dB, T a, b, e

W d = = E 7

fa) 1
(h) 2
o) -8
(d} 4

HAGHhe] THRT fn[d}l]-=u+hj I BA =1

FE o T HHEE W B

{32-A)

. U u = e™ gin bx HT v = ™ cos bx B, A

by (al+ b e™
(e} ah g 2x

id)  (a+b)e™

92, =R v = sin [In x) &, A1 Fo=fafaa @ 9 Fa

pee e R

ia) E;:L;: +ymi}

2
(b) d_i =0
x
() x-gﬂ -t-.'::E +¥=
z dx

2
G et —xd—:: +¥y=10

P9, UH W H w9 § = BEl B T w0 W

40 m OETE % UF AF ° 91 @R 8 & | af
et ) afiman Guifda S9%E 8, & e
CAREE S

fa) 285m
(b  20m
icl 10m
idd  Bm



The

through the point (-1, — 2} which satisfies

dy
dx

Lay

{h)

(el

td}

What

equation

¥y=a

and d
ia)
(h)
(s

(e

What

egquation v [-—-—] =ax +by?

{4

ib)

e

id)

where ¢ 18 an arlntrary constant.

YPL-5-BLU

of 91.

the

equiation curveé  passing

" 1L
W _ﬂ i !H
X

— A

17y —Bx- + 3x° -2 =10
ﬂ:tz_'r + 17" + 26" 3 =0
ﬁx}r—z:cﬂ+1'i’15+:i={}

175%y + Bxy —3x" + 5= 0

iz- the order of the
whose

cosx + bsinx + e +d, where o, b, ¢

differential

solution is

are arbitrary constants 7
1
2
3

A4

ia the solation of the differential

dy
dx

ge™® s ha

(33-A)

If u==e"ginbx and v =e" cosbx, then
dv

what isuj—: + 1"'&_1 equal to ?
(a) &t

by {a®+ b1 e™

(&) abha®*

{di  {a+bre™

If v = gin {In x), then which one of the

following is correct ?
13
(gl d—:|'2+:.r=l:l
dx
2
m L -0
dx
i
g.d°y dy
e} x + X +ym
dx? | dx

22
i) xi-jT‘;-xﬁ +y=0

dx

A flower-bed in the form of B seetor has been
fenced by a wire of 40m length. If the
Oower-bed hag the greatest pozsible area, then
what is the radius.of the sector 7

fa) 29m
(b} 20m
(e} 10m
id] Hm



1
M, [xix—1D+13, T8 0<x <18, F G 7R

95. qﬁﬂ’|ﬁﬂ11]:}%.ﬁ|1=—§méﬂﬂm
X
w7
;.
6 i
iy, B (6.In 2 = +/37)
5
&
w2 (6In 2 +~3n)
6
_ _
9 B(Gin2+J30
fed
G
n
@ 28 (8 fn 2~ JAn)
6
d T — sin 2x
pg, T2 pramm e T Tex<®
dx 2
; &)
(Al o8 X+EIDX
bl —={coax+ BN x)
iel +{cos x + 5in x)
(d) FodEE H # FE A
YPL-S-BLU

TR 7

val

_—— Ty
& | £a
e —

(=~

B 1
1
(e} E
I
‘373
(d) [E]

(34-A)

dx
7. PR R - - o 1
J' a® sin® x + b® cos® x

1 sfatanx
] s LA 1 ————a
{o Ehah [ b :|
(h) c-ita.n'l(h xJ
fb ]
(el c+ita.n_1[hmn1]
ab a
(d) IudE | A g A

A ¢ HHTFRA-E & |

o, #A wifew & fx + p = fofy) e

Ax) = 1 + xgixip(x) ¥, el lim gix) = a 3
[
Jim pixi=b | T Fix) s s ® 2

ial 1+ abfix)
(b} 1+ab

ey ab

(d}  abfix)

s e - 522wt

ja) v-—x+dinix+vl=c
(b) v4+x+2lnix+yl=c
e} y-x+lnix+yl=c

dy vy+x+2Mmix+yi=¢c

TEl o T wew R |




94, What is the minimum value of [x(x —1) =+ l]5 5
where 0<x=<17
1
(2]
4,
bl 1
1
(i e’
[ 5
A
344
(di ir
3)
85, Ify:1ain::|"'.1.hmwhmis:hnaluauf%
w
At == = T
a
_Ei L
@ 2562 Jar)
6
[
(b1 266 [n 2+ J3n)
&
R
@ 2 (G lIn 2++/3n)
&
X
G L
@ 5@z J3r)
G
d./1 —sin &
96. What is % squal to, where
I
— &R — 7
4
fal cosx+zinx
(b} = {cosx + gin x}
el %(cosx + 8in x)
id} Noneof the above
YPL-S5-BLU

a7,

(35— A)

dx

What is ogqual to ?
_[ a? gin® x + E:uﬂ EESTR

fa) ¢+ i1:311'1[“—-—--3'5)

al b

by eo-— i1;:..!|r1.'1[]:' tEmI]
ab A

ie) :+itan'l{hmnxJ
ah \ &

(d) None of the above

where ¢ 18 the constant of integration.

Let flx + y) = filxfly) and fix) = 1 + xplxipix),
where ﬁ_l:!lﬂnﬂlfn]::a and ].!'_I.Irluﬁfxl=|:l. Then
b X

what is f'{x) equal to ?

{a) 1+ abfix)
(b} 1+ab

{e} ab

{d) abfix)

What iz the aolution of the differential

coodx x+wv+1
tl _=—'.:|
B LA TIOD .‘.\'.-'I-!."-l

(@) y=x+dinlx+yl=c

by v+x+2Zimix+v)l=¢
e) yv-x+lnix+yl=e¢
dl] y+x+2nix+yi=c

where ¢is an arbitrary constant.




104D,

i 2SR Xtsinx -1 po e s o
- Q@in®x—9sinx+1
fi
1
ial -
2
1
b -
(b} 5
(¢] —2
idy -4

101, of2 & 9E AW F R s Awn T g

12

5 M &, W AeTEE 10 T oAhs we R
i &

1
m) =
) fem

4
b Rl
[ ) 3

a
) ——

11
i

=

a0 BEvil F TR WO=A W SiEiod HEEEd
O 8 B | A ITEE HEEE g A e
e i i #

{n) B0
b M
foy Bl
id) 36%
YPL-S-BLU { 36 -

103.

104.

105.

Ad

srefert 3 i % v ifim gy A ofea
= 25 9 § | AR ¥R % e 6 s
= 26 WY 9N i o oTgE 21 A R, W
e & el ahe st 61 shwem w2

{a) 20,80
(b} 40,60
fcl 60, 40
id) 80,20

I win o W7 cos o T B OTET sin p# ol
sin o 3 cos o F THWH WET sin B B, W
frrferfiaa 4 & $haam/d ot 378 ¢

f 5
1. 2 sinja+ Ejsinﬂ=sm 2ux
L

2. u'EHiJlE'=L‘ﬂEI[I:I.—E]

e fou w5 = A a9
(a) o 1

(b} T 2

(c) 13 22H

(dy aF 1982

a #Hifaw A, B #i ¢ uw agfess wEm 4
ety Wi i wuataa s Fedm geand
# 132 pB) = 1.5 PiA) 3T P(C) = 0-5 P(B) B,
a1 PrA) e B

{a) :—
(b) 14_3
(e %
(d) %




]

100. What iz [im EE"D.: ]H!“.’I_l al
:_,E 2ain“ x—dsnx+1
to?
1
[
(i 5
1
by -=
3
e =2
d} -3
101. If two diee are thrown and at least one of the
dice shows 5, then the probability that the
sum ia 10 or more is
1
{a) E
b =
) 11
3
{c) ﬁ
2
d G
(d) 11
102. The correlation coefficient computed from a
set of 30 observations is 0-8. Then the
percentage of variation not explained by linear
reEression 15
{al 80%
bl 20%
e B4%
id) 36%
YPL-5-BLU {37

103.

104,

105,

—A)

The average age of a combined group of men
and women is 25 years. If the average age of
the group of men is 26 years and that of the
the
percentage of men and women in the group is
reapectively

group of women 15 21  years, then

ia)l 20, BO
(b 40,60
(ed &0, 40
(d) 80,20
If sin [ is the hormone mean of sin o and

cos o, and gin 0 is the arithmetic mean of sin o
and cos o, then which of the following isfare
correct ?

L. 2 ai.n[nH EJﬁuﬁﬂmﬂex
2. A2 ainﬂ=ms[::—§)

Solect the correct answer using the code given
below

{a) 1aonly

(b) 2only

{c} Both land2

idl Neither 1 nor2

Let A, B and C be three mutually exclusive

and exhaustive ovents aszociated with a
random experiment, If P(B) = 1-6 PA) and
PiC) = 56 P(B), then PiA) is egual to

fa) %
®
e g
Le) %



106. % =iee Fed #, i kv, Z S & .

107.

YPL-5-BLU

IR HEA: 25%, 36% 3N 40% el &
Tmin =l 8 | wei X, Y, 2w 2w, 4% e
A% gl Aeel o Feo owEh € ) SEma A g
TEfeew ¥ 7 UF dee e am # o T
STV 9T AT # | Ry i ® R 33 i
X g1 SH1E T 9 7

(&)

(b}

(e

idi

8 Tor o wy 3o w9 B | a6 R
HH =Ry T 9T 8 7

T

()
G4

a7

{b) =

aT
{c) ﬁ

229

id i
) 256

108. 5=il % @7 mgm ¥, 90 3 w=feal sk

108,

(38-A)

1@:2%3%3#233%113?@%31"&
3 7% § | 7S A O @ afew wY W TS
o= F g AW R W o A A= d,
1 77 S 2 Fesl & 2 o T i 2 7

13

{a)
M 38

(b}
()

(d)

Fefefga e w foam fifa

1. = vk gt R v TR 10 EE R
=i, W sitem & 10 7 gfg F o
g1

oft e gt i wees afER | 10 S
ard, 1 areR Freem o 10 ghg 7
Bl

g. o mE g w5 g =
T wmu, A aftew g A A @

IngE  F A e w R
(@) 1,233

{hy THAE 132

(¢} ad 133

{d) HER 2 AN 3




1068. In a bolt factory, machines X, Y, Z
manufacture bolta that are respectively 25%,
35% and 40% of the factory's total output, The
machines X, ¥, Z respectively produce 2%, 4%
and 6% defective bolts. A bolt is drawn at
random from the product and 15 found to be
defective, What s the probability that it was
manufactured by machine X 7

&

5

fa) ﬁ
14

(b —
) 39
20

| —
' 38
34

dy =
49

107. 8 eoins are tossed smmuoltaneously, The

probability of getting at least 6 heads is
i
i ALK
il
57
by
: G4
37
j et
@ o5e
229
W 3ga
YPL-S-BLU

108.

109,

{39-A)

Three groups of children contain 3 girls and
1 bay; 2 girls and 2 bovs; 1 girl and 3 boys.
One child is selected st random from each
group. The probability that the three selected
consigt of 1 girl and 2 boys ia

{al %
(b) %
ic) %
() 3—12

Conszider the following statements :

1, If 10 iz added to each entry on a list,
then the average increases by 10,

2, If 10 is added to each entry on a list,
then the standard deviation increases by
10

3, If each entry on a list is doubled,; then
the average doublos.

Which of the above statements are correct 7

{a) 1,2and3

k) 1and 2only
{¢) 1and3only
id} 2 and 3 only



110, 25 VT 5 TE 4 8 | T we Ew O 2 Wi | 118, W X Wy = g o - 6 R, 3 X sl

fau = £, &t oftomdt Gewil & @ W @ ?#ﬁﬂmm—%i.?ﬁ&’mxﬂ
B

HETEE T F
(a) 2 1
ial -
by 4 24
1
s X
ch 6 (b 5e
idi 8 1
U.-'] —E
@y =
1L 9 @ ST XN Y H A x> 0,5, > 0 F @

(i=1,2 8 .0 & 79 I TOFH 96T FHE:

pat F, A % 7 Uit e B .
114, Fo=t Q89 (xy, vy (R Yol oo (g ¥,) B TH

(a) % Ag=E W wwR & omdt wm i # el od
aw] AT ST STe U & fE e E | ae
(bl anhlug[%:' x 3T v % o9 AeHey i & gt 1e f
(¢) n(logP—log Q) (a) hEe 03 1
(d) nilogP+log Q) (b) - %t 0 31 ~ 1
fed 0,130 _1

112, 72 & wews A o B % v my ER & ) e —1ain
mifirEa p R w9 (A e B ) B deed
ol ok % BE R WA o 8, @ Fefaiem | as, w0, 1, 2, ., 1008 8 3 qis x sy

H § WA AR E e wiE S A R | (x—y| > 5 & 29
1. PiA)1+PBi=2-2p—q 1 wifirsaT 2

2. PANBisl-p—g w &

1 fom e F2 w1 v = oA I 9 -

{a) Hae 1 (i %

(h) e 2 w 30

() 13 22 T

() FMLAE2 i %

YPL-5-BLU (40—A)



1140.

111.

112

The varance of 25 observations is 4. If 2 is
added to each observation, then the new
varinnce of the resulling observations is

(al 2
thy 4
iy b
idr 8

Ifx >0,y>00=1,273, ..n)are the values

of two variables X and ¥ with peometric

meane P oand Q respectively, then the
geometric mean of % 15
P
fa) ~—
Q
’ P
by  antilog (—]
o
fe¥ nilogP-logQ)
idd nllog P+ log Q)

If the probability of simultangous occurrence
of two évents A and B is prand the prohability
that exactly one of A, B occurs is q, then which
of the following is'are correct ?

1. PlAI+PIBi=2-2p-q
2 PANBi=1-p-gq

Select the correct answer using the code given
below :

{fa) lonly

ithy  Zonly

(el PBoth 1and 2

id) MNeither 1 nor 2
¥PL-5-BLU

113.

114,

115.

(41 =A)

If the regression coefficient of ¥ on X is — 6,
and the correlation coefficient between X and
Y is — %. then the regression coefficient of X

on Y would be

{al 3—14
by -ﬁ
el —é
id) %

The set of bivariate observations (x, ¥),
Xy ¥als ooy (Xpy ¥p) are such that all the values
are distinct and all the observations fall en a
atraight line with non-zero slope. Then the
possible wvalues of the correlation coefficient

between x and v are

(al  Dand 1 only
ih} Dand-1only
fe) 0,1and-1
idl —1and 1only

Two integers x and y are chosen with
replacement from the set (0, 1, 2, ..., 10}. The
probability that |x—y | > 5is

la) il

&
) %
(d) ;2_51




116. ¥% B T § Heluw €1 weE A 3 B &

117.

wfgw w1 fBGn T wlEE da o R,

Frferfias afomm 2 &

O A | FOAET B
o] & wE 500 BOD
i mif a9 T 1860 | T 1750
A1 & " W T g1 1[:]- i

Fufrdi A afn B % ooft afowi & o wiw fow
e HifdE g9 w1 e ol deE & oE =
T B

(a) ¥ 1860, 100

{b) & 1760, 100

(e} ¥ 1800, 81

I | | w0 A

id}

dF g o werr W1, 2, 9,04, 5 30 6%
#w ¥, w1, 11 e el # o o
el W B | e oiifae ok, v s 2 o
-1, TRE-DL, WEIN 9 A ATy Frefre
w8 | 58 wER % gwifye aftomdl $ den
T i xsysz8?

{a) 14
(b) 16
{ed 18
idy 20
YPL-S-BLU (42 -

118.

119,

120,

Al

s AraEge |, FeatEfas d 9 e oow o
e 2

fal HIE]

() wferE (difE)
(e} T[OITHE HILY

id) wEET (HTE)

feht ) smi ARt § (o T wE
g}, afz x wrem @ e Tamem w1 FEfm
B 3y yeEw FEem W B s 8, @

Farefafias § & S oF wi 2 7
a) y=x
th) y=x
fed x=¥%
dl =x<¥

FeffEs § 8 fee v R H, smoww
FrUTTeHS: WedEe Ue B ) agen w7

() uh s ofSeE 6 o
(by [ = g s gfge

oy sl & @ aft =9 == it gE
Fomemr 3= AT w9

[e)

(d) =l # A AT e R YeEn (I




116. An analysiz of menthly wages paid to the
workers in two firms A and B bolonging to the
same industry gives the following result ;

FirmA | Firm B
| Number of workers GO0 GO0
i"’emﬂf manthly # 1860 | ¥ 1750
Variance of '
distribution of wages | ) ki
The average of monthly wage and variance of
distribution of wages of all the workers in the
firma A and B taken together are
fal ¥ 1860, 104
thy ¥ 1750, 100
(el 1800, 51
idr  None of the above

117. Three dice having digits 1, 2, 3, 4, 5 and 6 on
their faces are marked 1, IT and 11T and rolled.
Let x, v and 2 represent the number on die-T,
die-Il and die-Ill respectively. What is the
number of posgible oulcomes such that
Xy ww?

(2] 14
(by 186
{c} 18
(dy 20
YPL-3-BLU

118,

11%.

120

(43-A)

Which one of the following can be obtained
from an ogive 7

(al Mean

bl  Median

te} CGeometric mean
(d) Mode

In any dizerete series iwhen all values are not
gsamel, il ¥ represents mean deviation about
mean and ¥ represents standard deviation,

then which one of the following is correct 7

n) ¥y=x
iy y=x
ey Hewy
) =x<y

In which one of the following cases would vou

expect to gel o negative correlation 7

la)  The ages of husbands and wives

(bl Bhoe sizge and intellipence

l¢) Insurance companies’ profits and the
number of claims they have to pay

d] - Amount of rainfall and yield of crop
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